hEHLE=ZTY U BE [#HEAK]

%

& i |
Al

X 2x +3y = 9 &, yliowTHBEL I,

FRX+2y =6 E,y LOoOWTEIR I,

EORT, KANEKXa, &3 h o
ZAMOBEES 4, ROLIIZERIN

ijﬂo

S:lah
2

BADEIXTEHLEBHIZ, ZTOX
Z,oa lloOWTEIL I,




ALHLTIV L 8 [HEX] O

s @ N R =

]

X 2x +3y = 9 &, yliowTHBEL I,

y_—2x+9
3

re

2
=—>X+3 °
y 3

HI9£EA2 (4) HFER24F

EX Xx+2y =6 &,y [2OoOVWTEEL IO,

1 —X+6
=—=X+3 X = Y
y 2 y 2

H20 £EA2 (4) HER24EF

j\\\\

HEORT, EAOEKkX a, BXh D
ZAMO@EMAS 14, ROLIIZKRIHh
ESE N

S:lah
2

BEADEKIZRDLEDIZ, TDORN S
Z,a lloWnWTExN 3w,

H21 £EA2 (4) HER2E



